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#*+ 2)+#� @*�3' �'��� $$  ��#��/1 2  $!"# 
�� 1'�Z�` .'�� �&�#�� 2)+#�Na : g.mol 123$O  16$N  14(    1 (82  2 (72  3 (62  4 (42  85-  �'#' 3�/K�" 
�&5� �1�� 
�7 � !"# 
#*+ �*�$ %��N	 ��$ =�/� �1�� 
�7 ��#�� *)[ =�_��_  !"# �	#  1 (3 ����� Y4 �4 �6  Z8 '[� ��'� 5&� Y/2 8   2 (3 ����� Y4 �4 �6  Z8 '[� ��'� 5&� Y/2 3   3 (5  ����� Y2 �4 �4  Z8 '[� ��'� 5&� Y/2 8  4 (5  ����� Y2 �4 �4  Z8 '[� ��'� 5&� Y/2 3    86-  2)+#� `��_ ���'#' ����������� @�< 6�a���+ *)[ $(*��7 !1�L ��) ?+��� ���F	 �# 6�&�	# 6�� V� `�E	 $�*� �� '#�� @a�&#@' 9��+ ���)  *)+*�Y+#$ (.!"# 2)+#� �c�' -'3�#�.  1 (/1 6 5�   2 (159   3 (71   4 (/35 5   87-  �'#' 6�01�� 3' *&��_ 
#*+ @#�� �'��/"# *&��_ �d1�/&� 9�c&��� 
�E�� �# �*���&'��     1 (H Br  ��"��&� 8O4�"��   2 (C H 5� �� 8 '� 4&.%  3 (C C  8 *4&* ��    4 (O H V� ��  88-   $'3�� 
#*+!"3'�&  !"#  1 (
�� J�� �� ���( ")��* �7)�73\&�:] 5O&)� �0����� 9� ��  � �� 8� 5�J��^� ��."#%  2 ( 5O&)� �� \� � ��2) '* 5O&)� 4 8� 5�-@� �%&I �� \� � 9� ��;#@ 5O&)�
'>M) �� J��^� �8� 5�-@�."#%  3 (�� �� ���( �&= "#��&/ 9� �V� � _� �� V� ��";� "#��&/�� � �(.�$� \�&�� �) � $ 5O&)� ���-/�  � �% "��  4 (.���� `�G �;2) �8� 5O&)� 5��'a�  � 4 
�K'2� �;2) �")��* 8� 5��"� *  � �
�� 4� 8 �� ")��* 5O&)� 8�-��  89-   !
�" ��#9/K�" 3' 2)+#� =��+ 3' � 9	# ��� V�  e�f2  ��#�� $@�/�1/2 4 � �/�1 �� 6�� M*� 3' $*��� �N�J' � $��&�g *)[/14 4 �� =�0�	 A�3�F� 
�� '�� )O : g.mol 116$C  12$H  1(  1 (2�   2 (/2 5   3 (1�   4 (5   09-   $5�	# �/K�" h�3# ��#/1 7  =��+ 9/K�" �# � *��� 6�&�	# �/K�" h�3# ��#��/5�  $5�	# 6��78� 6�a���+ ����  '#��  $'��6�&�	# 
�� *)[ %��N	 �� 9/K�" �#$ �� *�1�	 ���� 3#*N� 9��<)  '��O : g.mol 116$C  12 $H  1(  1 (/21 5   2 (/25 5   3 (/32 5   4 (/37 5             NH Cl(aq) NaNO (aq) N (g) H O(l) NaCl(aq)   4 2 2 2       CH COOH(l) O (g) CO (g) H O(l) , kJC H OH(l) O (g) CH COOH(l) H O(l) , kJC H O (s) O (g) CO (g) H O(l) , kJ               3 2 2 22 5 2 3 26 12 6 2 2 22 2 2 8744936 6 6 28 5� ( H  1 $ C  12 $ O : g.mol 116 ) 
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 ������� ���� �               ���� 10  ���������������������������������������������������������������������������������������   19-   $'3�� 
#*+!"3'�&  !"#  1 (�� �'* 4 8�")� b)�.* 4 8�.>� 1� +��&� �) �$ �� ��M� J��.")�(  2 ($� 0����� �� �) =4� ")��* � �( R4 >�'�& 84 "�&.% ��#�4 0������  &��&�3 .�$�  3 (0����� 5 �����  &c%�"I 5����3 J�&% �� �I V� �� �';2) &� ��J�� 54&�) 4 ")�(+� d ��������  e�) 1� ")��*.�$� �)O4�"��  4 (
�� � �( R4 >� 5���� "�$� � ': $ ��  �4  4 J�&% ����fJ�&% 9� 5���� &'$� g")1 $ �.� G 9� +�$ �� ��@���  &��&�9 .�$�  92-  ,	# ��# $�"3' A�/+ %1�U� �� �7�	 ��i�_ V� 3' �&?)� `N�L 5a�3*�< @�< @#3#' -*))+18  ���&� �� � 9��+ ,	#�� 2�#?.# *�3' *)[ %��N	 �� $5� �1�� 
�7 $'�� 9�?c��7 =�/� ���� �� $�*���" �)��+�3*�< *���    )S : g.mol 132$Na  23$O  16 $C  12 $H  1(  1 (12  2 (16  3 (18  4 (24  39-   -*���" �1� %�+�	 V� -3��3' '3�� 
#*+ @#3#'5  ,	#9��+ � 5j�Y+# ,	# V� � $�
�. �K�� 5�*� !"3'�&  !"#  1 (9� �� 5")��* 84&'��� �>@ 9�  � 8h�2%� &=� .�$� ���� J�K� �� 0����� �"( � �F'� J�&%  2 ( �� 8h�2%� &=�O4�"��8 ���� J�K� �� 0����� �"( � �F'� .�$�  3 (.�$� 8�'% J�K� �� 0����� �"( � �F'� J�&% 9� �� ,K/ 8h�2%� &=�  4 (.�$� &�� J�K� �� 0����� �"( � �F'� J�&% 4� �� 8h�2%� &=�  49-   6�01�� 3�/K�" �� �7�	 ���'#' $��� '3#�� �# '3�� *)[ $�*�!"3'�& )  !"#O : g.mol 116$C  12 $H  1(              1 (4  2 (3  3 (2  4 (1  95-   !"# !"3' '3�� 
#*+  1 (
�� � �( �3&�"�$� 9�.�2%��&% � ': $ �� 8O4�"�� 5 �&'��� 5"�$� ��i : �"( � &'��� � �$�.  2 ( �3&�[H ]  ���.a� ��51 � 0�.a� 8� �"( � &'��� �3&� 4 &�[H ] 5"�$� 0�.a� 8� �"( � &'�% ���.a� ��.�$� &�  3 (�)�� 0"���* �j��� �#�� 8"( �I  � "#%SO3  4Na O2 ��) V� �� �� L��)4�"�� 8�� �k.d �(�) =�"@ ��C  L�"%.�$� &'��� 0�.a�  4 ( &=� ��� l 5 �� ��  "�$� 5�&�HA TF) �  "�$� 5�&�HD  0�.a� ���&'��� �� ) $� �"( �/2�  �E��HD  0�.a� ���&'��� �� ) $�  �/1�  �E��HA&��&� � .�$�  96-   ��#pH  *�"# 6����HA )/  1� ��#�� $(/1 3 ���� *)[ 3' $*��� $6���� 9�# �# �/�1/18 8  �*� =L *�"# 
��  !"# )HA g.mol 147(  1(  1� �   2 (2� �   3 (4��   4 (8 ��        ,	# 3���.!"# ��#�� �&���' @�<*&��_ 3��� �� $5a�3*�< @�<  ,	# 3���,	# 3��� �� $5a�3*�< @�< *�<*1#?)� 6�01�� 3' 5a�3*�< @�<.!"# ��#��  ,	# ��# $5� �1�� 
�7 $'�� 9�?c��7 =�Y+�3*�< ����
 ���� �� 5� 5a�3*�< @�< $%��N	 ��5� �� 2�#?.# *�3'.*���  ,	# 3��� $��)� 2��Y+# '*
 �� 9��+ @�<3 ,	# 3��� ��#�� '*
 �� 9��+ @�< .!"# M#�&�	# =�	# 6�01�� 3' ��)� 2��Y+#  
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 ������� ���� �               ���� 11  ���������������������������������������������������������������������������������������   97-   !"# !"3' '3�� 
#*+  1 (8O4&'�) 5 �"�$� �)�� 
�� ^�9� �V� �� ���.�$� �/&C  2 (��) �T�^m "�$� 9� 0�.a�8�� �� ( ")���."( � \"�(�[�� 5 �  3 (R� ;G &2% N&_� 5 ��� �� � �"�$� �)�� 
@�� 4 �)�� �� l.")�  4 ( "�$� �)�� ��� ^� ,��&( ��HF 0����� �k.d �V� �� 5 �HF.�$� �� l �  98-   '3#*&�/"# �&#�1�� 6��" -3��3'»5a�3*�< � ,�)���1� «6���� �# V��< ,�L)  !"# !"3' ��� '3#�� 
#*+@�< 5��#��_ $*	�+ � *&�  $!"# �/�1 V� ��#��/E (Al Al)/ V   3 1 66 $Al : g.mol 127 $H  1 (      ��#�� $*	�+ 
�7 M#���m	 �� *&� 
�7 M#���m	 !DY& :;1#9 .!"#     !O�P ��# :AH (aq) $/3�  !O�P $*��� 2<�+ 3n��Al (aq)3 $/9� .!�#' *<#�K 2�#?.# 3n��      ��# :I/54�  $'�� �/"�+ *&� 
�7 �# 
��672 ���� b�#�� 3' 5a�3*�< ��� �/�1STP $=�0�	 .!"# �*�               3#'��& 3' :M»5��� � 6�� «!+�� 5�� ���m	 %�� $6��" 9�# @#��,�& 3' �*))+ $@*	�+ 2)+#�3  ���m	 %�� ��#�� !+�� 5��,�& 3' �*))+ .!"# @*&� 2)+#�    1 (»W « 4»R «  2 (»V « 4»W «  3 (»T�� « 4»V «  4 (»T�� « 4»R «  99-   2)+#� 3'��� !.�0J��  �� $A� 3' 6���� '#�� @�/���+�/"# %�#�o p���� !DY& $5� `1'�Z� `&�#�� �# q_ � !"# 
#*+ $=0� @��� '#�� @�/���+�/"# %�#�o p����      1 (4  2 (3  3 (2  4 (1  100-  5��/01# �# ��#6��" 3' �*�*�1�	 @�< �/K�" 5a�3*�<  e�(� �� $'�� �'��/"# ��3' A� �# ,�?�)� ?�. `�E	 @#��  �<'��� �� �/K�" 6��" 3' 5a�3*�< ��� 
�����+ *)[6 � �� $*�3' 5#�	18   '�+ ��E	 A#r� ,�?�)� 
�����+  )Mg : g.mol 124 $H  1(  1 (/25 �   2 (/12 5   3 (/2 5   4 (/1 25   101-  �� $���
 �O& �# #3 ��� M3�D
 $'3�� 
#*+�� =��+ �/"3' *)+    »@�	 '���� 6�01�� .................... $ .................... 6�01�� .................... *�Y+#«.  1 (�$� �>#� �?-@ � �  � 5-%&� 
�� 5���� Y Bn:&� Y 6 �)���  2 (8h�2%� 5� ���� 5")��* ) 84&'��� �>@ ��� Y Bn:&� Y "���?�./  3 (���� 5")��* 84&'��� �>@ �$ Y "#) �� Y "���?�./ 5&� 8O4&'�)  4 ( 
�� 5���� Y "#) �� Y "�>��$ 8O4�"���$� �>#� �?-@ � �  � 5-%&�  210-   �� �7�	 ��`1'�Z� �'#' $�*�/ 12� � ) ,�'�&#� 6��V �� *���+ (/39� s?�. 
�� @�3$ �� =��+ 2)+#� 6���� .*<' )  '3#' #3 B&3 
#*+ =��LZn g.mol 165(  1 (-;$  2 ( ��1  3 ( �>#�  4 ( ���            NaCl(aq) H O(l) NaOH(aq) Cl (g) H (g)   2 2 2 MgCl (l) Mg(l) Cl (g) 2 2 nVCl (aq) Zn(s) ZnCl (aq) VCl (aq)  5 2 
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 ������� ���� �               ���� 12  ���������������������������������������������������������������������������������������   310-   :@��� 6'�Z	 �� �7�	 �� H I HI ,  2 2 2⇌ � �+ $ e�f 3'1�  !"# !"3' ��� '3#�� 
#*+ $!"# 3#�J�� @�/�1       :;1#@��� t��F� B&3 $��' 2�#?.# ��$ ���	 �	��.'��     e�f V� �� 6'�Z	 6�N/&# �� :A5  ��� !O�P $@�/�1HI$ �� !��g.*&��     ��� @3#*N� G�3?	 �� :IHI  @�<��� !O�P $2)+#� e�f ��H2  �I2$ �� 2�#?.# !DY& V� ��.*���     ��# :M/1�  6��2)+#� �# V��< �1�� ���m	 5#?�� $'�� u3�K 2)+#� e�f �# �'3�#�.�*)<' �# �/�+ �</1� .'�� *<#�K   1 (»V « 4»R«  2 (»W « 4»R «  3 (»T�� « 4»W «  4 (»T�� « 4»V«  410-   $'3�� 
#*+!"3'�&  !"#  1 ( g")�(��&�� "I�4 ��PET9� 1� ��$� &7�� 5�$ 1� 4 ��)��&% �.� G \4&=� .���� 5 @ 5&�� �.� G \4&=  2 (�� �% �$� 9�� �4�� �.� G4� "�$� 9�.�2%��&% 9� �"�$� 9�� '/&��.* �: $ �� ")����� &'$�.�4� � %  3 ( g")1 $ 5 �&��)��PET�� ��#%�4 �C 4 
�K'2�&�d R��i�� % Y �� 2%� 5 �� �� L : �>) 1��� �$�."��  4 ( 8�&% �/ m�&=-�� � % 4 8h�2%� ��."( � &lo� J.��1�� * 1� "�$� 9�� '/&� ����� �#%�4 ���1 � ���-/� �� ")���  105-  ��� ��#@�< O3  �NO  ��� 5*���� �� � =0� G��U� @�/�1 V� e�f �' 3'�� t��F� �c�*0� ��& :�1'�Z	 2)+#� � *  O (g) NO(g) O (g) NO (g) , K  3 2 2 9⇌ $6'�Z	 @3#�J�� �# q_ $'��� 
��&# $ 5j�Y+# ��� �1�� !O�P p���� 3' � !"# 
#*+$ �3v �<)  !�#' *<#�K '�7� e�f 3' ��� 6�� *)[$  6'�Z�/1� (.!"# �'�� 6��   1 (/75�  �2  2 (/375�  �2  3 (/375�  �1  4 (/75�  �1    106-   $��� `1'�Z� G��U�/43 2  
��nMBr  $*�Y+�3*�< ,�/�1 6���� �� =��+ 2)+#� 3'18  A�"3 
��nM(OH) �� =�0�	 �1�� 
�7 @'*
 !DY& .*<'M  ��n )  !"# 
#*+Br : g.mol 18�$O  16$H  1(    1 (/34 5   2 (28   3 (25   4 (/21 5   107-  �'#' 2)+#� �' -3��3'2)+#� `1'�Z�)  !"# !"3' '3�� 
#*+ $�*� $'�� �&�#�� �<C g.mol 112(      1�#%�4 1� ��� (\��4�&/ 5&'���%�'$� +��&m e��p� 4 �$� J':�$ e�) 1�  � �#%�4 �� 51 = 5 �II &��&� 4� � \��4�&/ 5&'���%�'$� +��&m e��p� �#%�4 5 �I .�$�  2�#%�4 1� ��� (�#%�4 5&'���%�'$� +��&m e��p� 4 �$� J':�$ e�) 1�  �\"#�� �#%�4 ��  �I +�&m  � � \��4�&/ 1� ��� 5&'���%�'$�.�$� &��&� 8� 5 �  3 ( �#%�4 ��I�� � B&F� 5�1�/72� �#%�4 1� 0��\"#���;2)  �)  � �(5&'���%�'$� 5 �/1 92 �� ����� \��4�&/ 0��.��(  4 �#%�4 �� (II�� � B&F� 5�1�/27� �#%�4 0�� �\"#��/1 5� �� ����� "� @ g��4�&/ L&=.��(        ��B&3 ��B&3 B&3 2�)� n nMBr (s) LiOH(aq) M(OH) (s) LiBr(aq)    I) C H N O (s) O (g) CO (g) H O(g) N (g)II) C H N O (s) N (g) H O(g) CO(g) C(s)      2 2 2 4 2 2 2 27 5 3 6 2 2  
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 ������� ���� �               ���� 13  ���������������������������������������������������������������������������������������   108-  !"3' $��� '3#�� �# '3�� *)[ $=0� �� �7�	 �� ) !1�L 3')  !"#1(.*&3#' @�7 e�f 5�3' 5��3� � 5a��/�& $5j�Y+# $(   �1������" @�<5j�Y+# -*)���& $B&3.*&#   ) !1�L 3' e�f 5�3' '#��1.*&3#' ^��� �0�?�. !1�L $(   �1���5a��/�& -*)���& $B&3*��" @�<.*&#   ) !1�L 3' e�f 5�3' '#��2.*&3#' M���/� �0�?�. !1�L �' $(  1 (3  2 (2  3 (1  4 (4    109-    ��#3� �  6���� 
��1�  � ���7 *�3'5� �  6���� 
��12  t��F� �c�*0� �� M#�/�& ,�"�/_ ���7 *�3' =L ���7 *�3' $*&�� !"# 
#*+ *�*7 6���� 3' �*&��  1 (/1 75�   2 (/1 25�   3 (/11 5   4 (/11 25   110-   !"# !"3' �3#��< '3�� 
#*+  1�I 
pI 1� &'��� 0nI 
pI �0�.a� &� �� (.�$� \")�(  2�� q�._� 9� (�� I  � ���-@� 5���� ")���."( � R4 >'� ���-�/ 5 �  3) `� 0�.a� 
pI �� %  � (II�� �R >��$ (r)�&* sG � �% ��� ���-/� �� 8� �k.d 8����� 8� 8"( &�.��(  4 TF) &=� (�'(��&� 
pI &��&� 4 \�&% 
% �� ��� 0�.a� 9� 
pI ��&@ "i�� ���( �/ m� V� 0�.a� �� \"( �� TF) �0�.a�.��(           C 2� �  C 195  C 185  ) !1�L1( ) !1�L2( ) !1�L3( 
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